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Answer:

1) Anamount was decreased by 1% to 2) Round 12.58 to 1 significant figures. 3) (-67) + (-65)
$418.00. Find the original amount.
Answer: Answer: Answer:
4)  01:29amTo07:14 am 5) 1 2g-2 g 6) /
'‘Name the type of angle.
Answer: Answer: Answer:
7) Find the mode of the following set of data: 8) 6/3 + 2/4 9)
30, 30, 30, 30, 30, 11, 11, 11, 34, Find the next three numbersin
34, 34, 10, 10, 10, 10 the sequence
31,28,42,39,53,50,64 , ,
Answer: Answer: Answer:
10) 8+85 1) b / 12) 42x254
a o c
Measure angle boa
Answer:

Answer:

13) A number was shared in theratio
20:5. The smaller share was 27.
What was the total amount shared?

Answer:

14)

An amount was increased by 9% to
$370.00. Find the original amount.

Answer:

15) Find the mode of the following set of data:

1,7,7,7,27,27

Answer:
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Find the Angle at side B.

Answer:

Answer:

16) Share 40 in the ratio 3:1 17) Share 40 in theratio 3:1 18) Simplify 14:16
Answer: Answer: Answer:
19) 20) \
A=38 Name the type of angle.

Total: /20
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1) $413.82 2)10 3)-132
8) 21/, 9) 61,75,72, 10) 93
15)7 16) 10: 30 17)10: 30
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Answers:
4) 05 Hours 45 Mins 5) 2% 6) Obtuse 7)30
11) 135 12) 106.68 13) 135 14) $339.45
18)7:8 19) 142 20) Acute
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